Grade 1: Earth, Space & Weather Sciences Puzzle 37

Answer:

Andy received 5 hair pins from his sister,
and also 2 more hair pins from his mother.
How many did he receive in total?

Pop the Bubbles

Solve stor V Pr 0blems |Tayaat the ice cream shop sold 3 liters of } @

o g

Walnut ice cream on Monday, and 5 more
liters on Tuesday. How many did she sell
together?

4

~1

3+5

the matching answer

L Draw a straight line to

_/|Aitana scored 8 points on the first half of the ‘
science test, and 1 point on the second half.
What was her total score?

Read remaining
letters, vertically |s+1

10

_/|Taylor raises cats. Yesterday, she had 5 cats. “ @ @
Today, she found 1 new baby. How many
cats does Taylor have now?
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5+1

Detailed Instructions

1. The goal of this puzzle is to cross out bubbled letters so that you're left
with letters that spell out the answers. To do that, you connect the story
problem on the left with the answer on the right with a straight (ruler) line.

2. Important: There are more answers than questions! So many of the an-
swers on the right will not be used.

3. Solve each story problem on the left. Using a straight edge, like a ruler
(this is also important!), connect the point of the story problem'’s triangle
with the answer’s triable on the right. This will cross out a bubble letter.

4. Continue solving each story problem and connecting the problem with
the answer.

5. Once you're done, read the remaining letters from top to bottom. This will
spell out the answer.

6. Need help? Use the QR codes here.

Peek at the Watch a video

answer tutorial
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Grade 1: Earth, Space & Weather Sciences

Puzzle 377

Keitaro was climbing a slippery hillside. After he had
climbed up 99 yards, he slipped down to the 51 yard marker.
How far did he slip?

Leonardo raises mice. Today, several new litters were born,
with 14 new babies, and now he has 84. How many were
there yesterday?

Aiden filled his bucket with 85 ounces of water at the well.
Unfortunately, the bucket had a leak, and 22 ounces dripped
out before he got home. How many ounce did he have left?

Ritvik had collected 68 wittling sticks on the family camping
trip. However, he lost 12 of them while playing by the river.
How many does he have left?

Amelia has 84 pounds of figs and 53 pounds of peaches.
How many more pounds does she have of figs?
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